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Unet(
(conv1): DoubleConv(

(conv): Sequential(
: Conv2d(5, 64, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(64, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)
: Conv2d(64, 64, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(64, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

)

)
(pool1): MaxPool2d(kernel_size=2, stride=2, padding=0, dilation=1, ceil_mode=False)

(conv2): DoubleConv(

(conv): Sequential(
: Conv2d(64, 128, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(128, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)
: Conv2d(128, 128, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(128, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

)

)
(pool2): MaxPool2d(kernel_size=2, stride=2, padding=0, dilation=1, ceil_ mode=False)

(conv3): DoubleConv(
(conv): Sequential(

: Conv2d(128, 256, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))

: BatchNorm2d(256, eps=1e-05, momentum=0.1, affine=True, track running_stats=True)
: ReLU(inplace=True)

: Conv2d(256, 256, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))

: BatchNorm2d(256, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

)

pool3): MaxPool2d(kernel_size=2, stride=2, padding=0, dilation=1, ceil_mode=False)
up8): ConvTranspose2d(256, 128, kernel_size=(2, 2), stride=(2, 2))
conv8): DoubleConyv(

)
(
(
(

(conv): Sequential(
: Conv2d(256, 128, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(128, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)
: Conv2d(128, 128, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(128, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)
)
)
(up9): ConvTranspose2d(128, 64, kernel_size=(2, 2), stride=(2, 2))
(conv9): DoubleConv(
(conv): Sequential(
: Conv2d(128, 64, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(64, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)
: Conv2d(64, 64, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(64, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)
)
)
(conv10): Conv2d(64, 1, kernel_size=(1, 1), stride=(1, 1))
)
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Epoch: 15  train data: 800 @ testdata: 200 Learning Rate: 0.05 Img Size: (256, 256) Batch Size: 1 Channel: 5
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Epoch: 15  train data: 800 @ testdata: 200 Learning Rate: 0.005 Img Size: (128, 128) Batch Size: 1 = Channel: 5
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Epoch: 20+  train data: 800 @ testdata: 200 @ Learning Rate: 0.0005 @ Img Size: (128, 128) Batch Size: 1 = Channel: 5
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Unet(
(conv1): DoubleConv(

(conv): Sequential(
: Conv2d(5, 64, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(64, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)
: Conv2d(64, 64, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(64, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

)

)
(pool1): MaxPool2d(kernel_size=2, stride=2, padding=0, dilation=1, ceil_mode=False)

(conv2): DoubleConv(

(conv): Sequential(
: Conv2d(64, 128, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(128, eps=1e-05, momentum=0.1, affine=True, track _running_stats=True)
: ReLU(inplace=True)
: Conv2d(128, 128, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(128, eps=1e-05, momentum=0.1, affine=True, track _running_stats=True)
: ReLU(inplace=True)

)

)
(pool2): MaxPool2d(kernel_size=2, stride=2, padding=0, dilation=1, ceil_ mode=False)

(conv3): DoubleConv(

(conv): Sequential(
: Conv2d(128, 256, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(256, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)
: Conv2d(256, 256, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
: BatchNorm2d(256, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

)

)
(pool3): MaxPool2d(kernel_size=2, stride=2, padding=0, dilation=1, ceil_mode=False)

(conv4): DoubleConv(
(conv): Sequential(

: Conv2d(256, 512, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))

: BatchNorm2d(512, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

: Conv2d(512, 512, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))

: BatchNorm2d(512, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

)

pool4): MaxPool2d(kernel_size=2, stride=2, padding=0, dilation=1, ceil_mode=False)
up7): ConvTranspose2d(512, 256, kernel_size=(2, 2), stride=(2, 2))
conv7): DoubleConv(

)
(
(
(

(conv): Sequential(
(0): Conv2d(512, 256, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))




): ReLU(inplace=True
): Conv2d(256, 256, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))
): BatchNorm2d(256, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)

): ReLU(inplace=True)

ConvTranspose2d(256, 128, kernel_size=(2, 2), stride=(2, 2))

(conv8): DoubleConv(

(conv): Sequential(

): Conv2d(256, 128, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))

: BatchNorm2d(128, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
): ReLU(inplace=True)

: Conv2d(128, 128, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))

: BatchNorm2d(128, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

ConvTranspose2d(128, 64, kernel_size=(2, 2), stride=(2, 2))

(conv9): DoubleConv(

(conv): Sequential(

)
)

: Conv2d(128, 64, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))

: BatchNorm2d(64, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

: Conv2d(64, 64, kernel_size=(3, 3), stride=(1, 1), padding=(1, 1))

: BatchNorm2d(64, eps=1e-05, momentum=0.1, affine=True, track_running_stats=True)
: ReLU(inplace=True)

(conv10): Conv2d(64, 1, kernel_size=(1, 1), stride=(1, 1))

)

WIGREE IR Z AR 2%

RIGIREHFFE

loss: 0.693156

R RZ 2L i 2%



	【深度学习】【U-net】医学图像(血管)分割实验记录
	医学图像分割实验记录

	U-net介绍
	数据集
	实验记录
	实验1
	实验2(fail)
	实验3(fail)
	实验4(fail)
	实验5(fail)
	实验6(fail)


